o A Ba [ e BojZ 4ot A MgE Ag n2A
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0ax17xa2— 3 32 [ ] ]

] w0 0 [ |~

@® 100, 17,1632,10000, 1.632 @ 100,17,1632,1000, 1.632
@10, 17,1632,1000, 1.632 @ 100,17,1632,1000,16.32

® 10,170, 1632, 1000, 16.32

3 17 32 1632
0'3X1'7X3'2_1_OXEXE_W

ot2bA 10, 17, 1632, 1000, 1.632 LYt}

= 1.632




2. O3 FHEA AL AL o] ZRIA] A2 A Q.
@D 0.16x0.4 = 0.64 @ 0.27%x0.5=1.35
® 0.2x0.74 =148 @ 0.9%0.63 =567

@0.75 % 0.38 = 0.285

~&B

D 0.16 x 0.4 = 0.064
@ 0.27%x 0.5 =0.135
® 0.2x0.74 = 0.148
@ 0.9 x 0.63 = 0.567




175 x 320 = 56000 & o]-gstol, [ & 7S wj vp2A 7

28 o= AU

® 1.75x32=] | [ ]=056

@ [ |x032=56, [ ]=0175
@0.175 x| ]=056, [ |=32
@ [ ]x0.032=0.056, [ ]=175
® 175x[ |=560, [ ]=0.32

SF

his

B

@®175x32=[ ], [ ]=56
@[ |x032=56, [ |=175

@[ ]x0.032=0056, [ |=175

® 175x[_]=560, [ =32

\_




o F A AL B2 22 ol AR nEAL.

® 2.17x10 (@)21.7 % 0.01 @ 0.217 x 100

@ 217x0.1 ® 2170 % 0.01

~&B

D 2.17x10 = 21.7
@ 21.7x0.01 = 0.217
® 0.217 x 100 = 21.7
@ 217x0.1 =21.7
® 2170 x 0.01 = 21.7
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7}, 23.125 x 0.04 71.2.1% 3.6
1} 15.12x 0.5 L.04x1.8
o} 5.76 x 0.125 T.0.37x 2.5

®7h1 @7k @t @ v

~&B

: 23.125x0.04 = 0.925

:15.12 x 0.5 = 7.56

$ 5.76 x0.125 = 0.72

- 21x3.6 =756

:04x1.8=0.72
:0.37x2.5=0.925

webA 7}e, v, B gy,
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® 42x23 @ 420x0.03 @ 5.6x42
@)0.42 x 8.5 ® 132x0.42
4.28kFsHs 71 Heh 2o w At 2wt 4.2 Bk g

D 4.2%x2.3 =9.66

@ 420 x0.03 = 4.2x3 = 12.6

@ 5.6 x 42 = 4.2x56 = 235.2

@ 0.42 x 8.5 = 4.2x0.85 = 3.57
® 132 x 0.42 = 4.2x1.32 = 5.544
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D 4.8%0.5x8.3 @0.48 X 5 X 83
@ 4.8x0.5%0.83 @ 48 x0.05 % 8.3

® 4.8x5x0.83

S8 \
@D 19.92
@ 199.2
3 1.992
@ 19.92
® 19.92
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389 x 49 = 19061 Yufj, A o] 2

@® 389 x4.9=1906.1 @389 % 0.049 = 1.9061
® 389 x0.49 = 190.61 @ 3.89%x49 =190.61

® 0.389 x 49 = 19.061

B ~

1
389 x 49 = 19061 2] oFHo] — A3}~
@ 389 x 9061 2] oFH o 1000ao}1

1 1
49X —— = —
389 x 49 x 1000 19061 x 1000

389 x 0.049 = 19.061




9. 328 x 14 = 4592 = o|835lo o} T4 FHol 7MY & A
AAY7?

@328 x 1.4 @ 328 x0.14 3 0.328 x 14

@ 0.0328 x 14 ® 3.28x14

rlo

B

D 328 x 1.4 = 459.2

@ 328 x 0.14 = 45.92

® 0.328 x 14 = 4.592

@ 0.0328 x 14 = 0.4592

® 3.28 x 14 = 45.92

wrebA 7P 2 A2 OPY T




10. 328 x 14 = 4592 & o]-85to] th5 FollA &ol M 242 A
AGU7E?

D 328x14 @ 328 x0.14 3 0.328 x 14

@0.0328 x 14 ® 3.28x 14

rlo

B

D 328 x 1.4 = 459.2

@ 328 x 0.14 = 45.92

® 0.328 x 14 = 4.592

@ 0.0328 x 14 = 0.4592

® 3.28 x 14 = 45.92

wrabA o] 7Y 22 A2 @YYt




11.

27 x 43 = 1161 & o]-g-oto] Al4to] B £57S A2

7RIy

@ 0.27x43 = 0.1161
@27 x 4.3 =116.1

D 2.7x0.43 =11.61
@ 27x0.43 = 1.161

® 0.027 x 43 = 0.1161

B

@ 2.7 x 0.43 = 1.161
@ 027 x 43 =11.61
® 27x0.43 = 11.61
® 0.027 x 43 = 1.161




12. oS FolA 25H L vi2A 42 AL 12X Q.

@® 53.436 x 10 = 5343.6 @ 534.36 x 100 = 534360
® 12.49%0.01 = 1.249 @ 12.49% 0.1 =0.1249

@124.9 x 0.001 = 0.1249

~&B

@ 53.436 x 10 = 534.36
@ 534.36 x 100 = 53436
@ 12.49 x 0.01 = 0.1249
@ 1249 x 0.1 = 1.249




13.

9.4 x 1.09 x 4.95 9] F2 254 ot & 2] =212 H7|A 1=
AlQ.

® T4 % @ A A% (©REEES
@ LAY = O AR A S

9.4 % 1.09 x 4.95 = 50.7177 41t}
matA] A o= v A Yt




® 0.23%x25 (@)0.15 X 42
@ 0.094 x 30 ® 2730 % 0.002

~&B

® 0.7x0.3

D 0.23x25=5.75

@ 0.15x42=6.3

® 0.7x0.3 =0.21

@ 0.094 x 30 = 2.82
® 2730 x 0.002 = 5.46




@ 0.068x[ |=68
@[ Jx4.05 = 105

® [ ]x0.2887 = 28.87

~&B

@ [ ]x0.259 =259
@ 2.85x| |=285

S7te] Wab} QLT 5o

Zhzte] [(Jgte] ol 52

webq A @AY

102] vjZ7} [ Jgtoll Sojzt &

4

2t 2 100, 100, 10, 100, 100




16. Axt 237t HE shtE A=A 2.

® 6.4x4.7 @ 64x0.47 @640 x 0.47

@ 0.64 x 47 ® 0.064 x 470

~&B

@D 6.4x4.7 =30.08

@ 64 x 0.47 = 30.08

® 640 x 0.47 = 300.8

@ 0.64 x 47 = 30.08

® 0.064 x 470 = 30.08

D0 @ 06: 2552 S

®: 2% @A &




17. e[ el ol 47h Aol thE AL ol AU

@D X 3.72 = 37.2 @ [ ]x0.743 =743
® 0.036 x[_|=3.6 @ 6.41x[_|=641

® [ ]x0.4865 = 48.65

B
@[ |x372=372,] |]=10
@[ |x0.743 =743,[ |=100
®0.036x[ ]=36,] |=100
@ 6.41x[ |=641,[ ]=100
@[ ]x0.4865 = 48.65, [ ] =100
wtabd [ eto] 47} b2 ALe OYYTh




18. 328x14=4592¢4 wj E& 7S 11249,

D 328 x 1.4 =459.2 @32.8 x 0.14 = 45.92
@ 328 x 0.14 = 45.92 @ 3.28x1.4=4592

® 3.28 x 14 = 45.92

B

327 x 4 = 4592
1
O]:]ﬁ a5ty
@ FRl 1555 7]

1 1
398 X 14 X —— = 4502 X ——
x 14> T000 = 92> 1000

32.8 X 0.14 = 4.592
45.92 — 4.592




19.

176248 = 43648 Y2 &1, th-& Atol] 284S EA B2 A&
T2A9.

@D 176 x 0.248 = 43.648 @ 0.176 x 248 = 43.648
® 176 x 24.8 = 4364.8 @17.6 X 248 = 4.3648

® 1.76 x 24.8 = 43.648

176 x 248 = 43648
1 .
@ Og:%oﬂ E"'Eo]'ﬂ

1 1
1 248 X — = 43648 x —
76 X 8><10 3648 0
17.6 x 248 = 4364.8




20. &AM AW ORY 2 As BF AE2A,

@O Ox04 @@x 1.6 @1,02x®
@ 01x06O ® 0.085xO

~&B

@& 1 ol o,

D1x04=04
@1x1.6=16
®1.02x1=1.02
@0.1x1=0.1

® 0.085 x 1 = 0.085




21. 827 x 512 = 423424 & ©]-g3}o], A5HS ZIHE HL2 oL A
7k
@ 0.827 x 512 = 423.424 @ 8270 x 0.512 = 4234.24
@ 0.827 x 512 = 4.23424 @ 827X 5.12 = 4234.24

® 827 x0.0512 = 42.3424

1A

B

827 x 512 = 423424

827 x 512 % L = 423424 x L
1000 1000

0.824 x 512 = 423.424




22. 295 x 180 = 531002 <&
[ ]ere] 71 B & AL oj= AU

@ 29.5x[ | =53100
@ 2.95x| |=531

@D x 18 = 5.31
® [ |x0.18=531
® [ ]x0.18 =531

~&B

295 x 180 = 53100

oFH] 1 235
© e 10000 = 1

1 1
2 1 =531
95 x 180 x 10000 53100 x 10000

0.295 x 18 = 5.31
[ ]=0295

[ —— _
@ e - EwE F, 10557

1 1
295X180XEX1O:53100X EXIO
29.5 x 1800 = 53100

[ ]=1800

oFH] _:'_5
® FH T 171

1 1
2 1 — =531 —
95 x 180 x 1000 53100 x 1000

295 x 0.18 = 53.1
[ ]=295

@ ol - Fat]

1 1
295 X 180 X — = 53100 X —
95 x 180 100 53100 100

2.95 x 180 = 531

[ ]=180
© ol L B F, 105
1 1
205 X 180 X 750 % 10 = 53100 X 5 % 10

2950 x 0.18 = 531

[ ]=2950
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_®_>

3.8(25| @
0.02(0.37| ©
@ | ©

@® 0.076, 9.5, 0.0074, 0.925 @ 0.925, 9.5, 0.0074, 0.076
® 0.925, 0.076, 9.5, 0.0074 @ 0.0074, 9.5, 0.925, 0.076

@9.5, 0.0074, 0.925, 0.076

~&B

0] B4 WPES AZstel ARt
@38x%x25=095

© 0.02 x 0.37 = 0.0074

© 2.5 x0.37 = 0.925

@ 3.8 x0.02 = 0.076
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25. 175x320 = 56000 4 ol-gstol, [ |2 TR ) vp=A 73 AL
ol AU

@ 175x32=[_|[ |=056
@ [ |x32=056] ]=0175
® 1750 x| |=0.56,[ ]=32
@) Jx32 = 5600, ] =175
® 175 x| |=56] ]=32

175 x 320 = 56000

© el - Fat]

1
2 —
175 x 320 x 100 = 56000 x 100
175 % 3.2 = 560

D:SGO

@ g

Fob7)

100000

1
100000 56000 x 100000

0.0175 x 32 = 0.56

[ ]=0.0175

@ g

175 x 320 x

Fob7)

100000

1
175 % 320 X ——— 100000 = 56000 x 100000

1750 x 0.00032 = 0.56
[ ]=0.00032

@ el - Hap]

1 1
2 —_ = —_
175 x 320 x 0 56000 x 0

175 % 32 = 5600

1 _
]: UL
@ 2 \__Oﬂ 1000 1=} ]-7]

1 1

175%x0.32 = 56

[ ]=032




